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WA,V R BEK B BB B AR R BO 45 1 58, 0% H, K =%
PR A TS YRS
0. MM SMB2HEN L—SHRES 2 HMBY
IR] DL % — o AR e M i SR AR AR GR 2 98 2 9 O
MU= MY ABC Z 44 M1 & — 85 F A B s (64 M 8
AE K & L Z 3138 a, b, ¢ [i] (2 B — ¢r &k, 304 B Simson iff
B e e M HRF S UM, B,y R MR
— ETER A B O AR D #R MO 2 K A A (EL AR, 3¢ A (L 3G
32



b1 71

HHBHM/ARGAL 228 BBV T SR =
LAY A NS OK
Zoh B 69), K B 18 ¥ A4 R %
2 55 = 72 B,

B, M, a, c 19 B (% 3t [ (B4 BM 15
i 8 2 1), fe A3

(BM, Be)= (a, a0)
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(2, 8) = — (B, a)
Cigt
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83. R A o8 = @h Je I o R 1E— L L, T 0 40
Rz —d.
R Al
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